Parts List .«..x:

B 1N FL 4

Model: KC260DX =Y AT—R 523694






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BR%ES - R - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
2. IO (DTUDT =R DU e 3~6
I SRV QU b B 100 5 St 3 B 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 12



1. KC260DX
X K

@ 7v929-h



RHEES | HaES B & {1 &% & =
1-1 364050 | KC260DX 1
1-2 228411 | TUNIV'Y 1 | 7x1539L SP-18
1-3 228427 | ' 4hUehs 1 | 24xT1.6x1500
1-4 215532 | fiv44=%") 1
1-5 054691 | YUhT9 9347 1 [ 6794
1-6 089738 | 6 AU Wb (+ 777 EYH) 1 | M5x15
1-7 228446 | NN IWMNYTATY 934T 1 [ 8744
1-8 092561 | 6 hYF'IWb (+)SW 6 | M5x25 77"V
1-9 227457 | ¥ ¥hr—-A9347 1 |10~ 16744
1-10 234109 | 6 h4f Wb 1 | M8X8
1-11 092550 | 6 HYK Lk (+)SW 1 | M5x25-7T
1-12 212986 | NE/KR A 1
1-13 219195 | nE/K'AB 1
1-14 215610 | 6 h4H Wb WSW 1 | M8x22 t4)
1-15 222128 | ¥¥IFEIUNY 1
1-16 222129 | 4YE' VY 1 | 5x20
1-17 089737 | 6 h9H Wb (+ 777 EYH) 1 | M5x12
1-18 220549 | F1943—9 1
1-19 234041 | #=L7°L—} 1 | KC260DX
1-20 231654 | NJI—=4 1 | ECO
1-21 225317 | nJv—% 1 | YVYIRE—}
1-22 229790 | AUNLIRA 1
1-23 226961 | nUN LTI 1
1-24 234001 | A{VFr—RH347 1 |25~ 27744
1-25 226988 | FTAIRY (4) 1 | M5x18
1-26 012487 | t3%'h'% 1 | M5
1-27 126993 | 6 B9+ Yk 1 | M5
1-28 233644 | ANV AAYFTIA 1
1-29 232959 | M)ATH34T (T19) 1
1-30 232969 | ARYRLLA'— (T19) 1
1-31 233228 | 74¥IIH 1 | YWFF=7")b 720X63
1-32 228086 | —1—-5—9A" b 1
1-33 222821 | Y AVAVAN =934T 1 | 34794
1-34 092561 | 6 H9H Wb (+)SW 2 | M5x25 77"tk
1-35 418984 | A—1n"—47 255 1




2.KC260DX T ov
ek aey S




RHES | BHRAES B & FR B % i
2-1 859098 | 1YYy 1 | CE260/18
2-2 283734 | Y)u& 1
2-3 283783 | I AV 1
2-4 261250 | 6 H97FIEK ILE WSW 4 | M5x20
2-5 269144 | 41UY1L—4 1
2-6 267049 | B AFYb 1
2-7 269826 | TAIRY ()WSW 2 | M5x25WSW *v4
2-8 288033 | ¥777tV7) 1 19~127494
2-9 282209 | ¥v773v77-b 1
2-10 287254 | B AN 1

-11 268171 | 74l 1
-12 265107 | 6 h97+HV%770Y K bk 2 | M4x10
- 284071 | L4 1
- 283940 | B AHFYb 1
- 266402 | %Y1 2 | M5x55
2-1 281435 | 78 —hin— 1
2-1 269827 | A1V (+)WSW 1
2-1 286707 | M7hin-TtY7Y 1 |19 ~227494
2-1 281434 | M7 hiN— 1
2-2 286300 | J7'IhA 1
2-21 261020 | AN—# 1
2-22 261734 | 5')Y7° MY 1
2-23 289582 | #7309 —2 1
2-24 280488 | ATYVY 2 | PPL 6001
2-25 261492 | #ALY—I 1
2-26 261386 | A4ILY—l 1
2-27 055185 | C h'4ki0 1 | 7F39 28
2-28 261612 | 6 W97 FY%K Lk WSW 3 | M5x30
2-29 281442 | 29—y 1
2-30 268247 | E'ARY 1
2-31 261496 | E'AMUY 2
2-32 261497 | E'AMIEY 1
2-33 261037 | =—FAATYLY 1
2-34 261576 | #—49Yv7° 2
2-35 265197 | ¥¥7bh3v77)—F 1
2-36 284786 | 47VFT U7 1 |37 ~3974L
2-37 284702 | H7VFHK A 1
2-38 284787 | 479Fv1 2
2-39 286554 | A7vy’ 2
2-40 288075 | A7YuY 1
2-41 284704 | 79vY 1 | 5.1x14x1.2
2-42 285220 | A%Y1 1 | M5x10
2-43 288035 | 77UhN-TtU7Y C 1 |44 ~ 46 754
2-44 287060 | 77 hnN— 1
2-45 269272 | 479FN 34377+ 1




2.KC260DX T ov
ek ay S




RHES | BHRAES B & ) B % 1
2-46 014210 | C h'4kr7 1 |Ss10
2-47 287064 | 49Yv3V A 1
2-48 287065 | 4v¥Y3v B 1
2-49 287062 | Y3MUPA 1
2-50 287063 | ¥'34U+B 1
2-51 269831 | FAI4Y (HWSW 4 | M5x20WSW
2-52 280107 | FA 3%y (4) 1 | M5X10
2-53 280108 | 7A 3%y (H)SW 2 | M5X20
2-54 287897 | ¥ AT EVT) 1 |55~ 63794
2-55 287901 | A—4% 1
2-56 283705 | 19 Z93AVAMNTEYT) 1 |57 ~ 63744
2-57 283730 | 24 1
2-58 261072 | ¥yv7° 1
2-59 283731 | ¥1-7 1
2-60 283732 | 1—-FT7tEU7Y 1 |61 ~63794
2-61 283733 | 31—V 1
2-62 261075 | 794 1
2-63 261074 | 7°39°%vv7’ 1
2-64 261076 | nUrIE— 1
2-65 288074 | Y¥7b 1
2-66 280381 | AA—# 2
2-67 261256 | 6 W97 FYEK Lk WSW 2 | M4x25
2-68 286739 | AN=97'3Y° 1 | CJBY
2-69 261772 | -V 1 | 175t7 HCBH
2-70 268044 | J-F 1 | 135M4_CBH
2-71 269189 | 4'OAYk 1
2-72 264588 | 457" 1
2-73 269705 | 38 VR EYWVEY




3. KC260DX T oV
JaqIJLRBE—A




RHEES | BRES =1 71 &%k fis
3-1 288646 | YI4UNR4-4T7EY7) 1
3-2 282096 | A%Y1 3 | M4x16
3-3 288535 | A4—47"-7ty7) 1
3-4 288529 | 747 4— 1
3-5 265726 | 6 h9TTYXHR L WSW 4 | M4x16
3-6 289289 | 3A°N 1 | KC260DX




4.KC260DX T v

FrILA, BEEUY




RHEES | HaES B & 1 &% &
4-1 283898 | ¥¥7°L47tEV7Y 1 [2~20794
4-2 264155 | £KV7K' T4 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'A4Yb 1
4-8 262994 | 4°4%77L 1
4-9 282576 | h'AYb 1
4-10 281487 | ¥ 1Y 1
4-11 261871 | Oy 1
4- 261876 | vy 1
4- 264678 | 7YY 1
4- 261658 | A4~ 1
4- 261875 | A%9Y1 2
4-1 264677 | 77779 1
41 261657 | Ny 1
41 262996 | %Y1 4
4-1 261878 | Fwh 1
4-2 263994 | A%Y1 1
4-21 269762 | HATYb 1
4-22 268055 | T—A7tV7) 1 |23~26794
4-23 268056 | H—AK'T4 1
4-24 268057 | N7 1
4-25 268157 | AY-7" 1 | 5.5x7.1x6
4-26 268412 | AY-7" 1 | 5.2x7.1x6.4
4-27 263345 | NIy 1
4-28 263942 | E3H N % 1
4-29 263815 | AT— 1
4-30 269834 | FA'I%Y (+)WSW 2 | M5x60WSW
4-31 265026 | A%Y-Y 1
4-32 265027 | ILAVH 1
4-33 268058 | An-7tU7) 1 |34~ 36794
4-34 268059 | #Y—Fhn'— 1
4-35 281438 | /)7 1
4-36 261734 | 597 MY 1
4-37 281749 | 409777 1 |38~ 48744
4-38 281439 | 71-I)L4YY 1
4-39 281565 | 4v9%YV77t077) 1 | 407494
4-40 269377 | NYEY 1
4-41 282538 | 71-ILNA7THUTY 1 |42 ~ 487494
4-42 282539 | N{7THEUT 1 |43 ~ 46 794
4-43 268065 | #'AAYh 1
4-44 261690 | #)3AINAT’ 1 | 160L
4-45 261590 | 744779347 1

-10-




4.KC260DX I v

FrILA, BEEUD

-11-



RHE®EE | BAES B & 5 R i
4-46 261117 | 4yv7° 1
4-47 264653 | 74T EV7) 1
4-48 261117 | 997’ 1
4-49 284042 | FTAIRY ()W 2 | M5X20
4-50 284043 | TAIRY ()W 1 | M5X20
4-51 288306 | N'{7 1 | 5x8x10L
4-52 281441 | 24N 1
4-53 284579 | 3N 1 | FA-9 A1 04

-12-




=0
AR

5. KC260DX
T &

-13-



RHEES | BRES i 71 &%k fis
5-1 221460 | K3 A% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE' K YIRANT 1
5-4 022865 | AT FANT 1 | 8x10
5-5 219431 | 6 WK IANT 1 | ZAUnnN 3
5-6 234000 | M)7YB4EYAM3 1 | KC230M

-14-




& X

Q = U LRETR
BHEHRBEXRZEO

fLyR—-pEL42—: EE 0120-898-114
ZFIFRERS: AM9:00~PN5:00(X. B. 1A 2 <)

EIEREET Printed in japan 2013-08.J




